cloche’ cloche”"; Tg(cryaa:Rno.Cryaa)

-

~

\

E 100
£8
'S o 80
f, “_qc', n=30
g, o 60 T
85 =28
° n=
qE,ﬂ’ 40 *p<0.05
5 S
S 20
XS
0
cloche” cloche’;

Tg(cryaa:Rno.Cryaa)



Rno.Cryaa Rno.Cryaa - -
LD- LD+ LD- LD+

control MO-cryaa

H J 100
n=320
6hpf 12hpf 24hpf 2dpf 3dpf 5dpf 1 n=200 P=0.007
80 ] P=0.02
cryaba 1 T
s {7 n=120
S 560 _ P=0.004
o3 T n=140
§8 |
20 _

2.5ng 5ng 5ng 3ng
cryaa cryaba cryabb

MOs only  MOs in Tg[cryaa:Rno.Cryaa]
minor M minor
[ major Il major

10ng MO-cryabb



6

-
N N
il < il
c i c

* -

o

S G

=]

Q

=)

]

o

WT
n=18

3888888°8 8 8 8 °

-~ N - -

Ajisuajuy aoue}oa|yal (wrl) J9j2welp sua]

cryaa™

WT



p=0.02

1007 ¢ryaar- .i- n=297

£ 80
3, |
N o
S.& 60+ n=T1 _
53 ! T minor
e 40 s major
y— QO
o~ o
°\° . .

0

cryaa*- cryaa™

incross incross



WT x WT WT x cryaa*”- cryaa*-x cryaal- cryaa’x cryaa™

hpf 0 1 3 6 48 0 1 3 6 48 0 1 3 6 48



100 - p<0.01

< 80
=
o
oo
=g ©f
Qo T
Eon
o8 40
= 9
R

20

0

cryaa*- @ cryaa’ ?
X X

cryaa’- 3 cryaa*- 3



% of embryos with

lens defects

n=283 n=283
s minor
!_ p=0.017 7] I major
T SRS I .
p=0.04 |
i by
cryaa*" cryaa*-;

Tg(cryaa:Rno.Cryaa)



% of embryos with

lens defects

40

20-

minor
I major

cryaa*- cryaa*”
incross incross
(* major embryonic lens defects )





